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Z: 200 AI9l4
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g 211 A4 CEEED
Z.op-g-2 0 &k o4 p[E-T" HR 2
=R 255,018, 152 223,142,151 31,876,001
200 Al 42! 10,886,611 9,041,836 1,844,775
210 ZAHHLY 5,143,648 5,083,344 60,304
211 THAI CH4 ) 192,546 160,570 31,976
211-02 ZRMLYHE 192,546 160,570 31,976
[ 2ura | 192,546 160,570 31,976
< WD > 19,234 16,090 3,144
O 2RML(EX) H2 (4902 X) 16,344 13,200 3,144
<sYUIEHE > 123,442 94,610 28,832
OZSMM(EX) AU (SHTT,39EX) 14,566 0 14,566
OFMXT HEHALANST YUE 12,389 0 12,389
OBRMA(AE) YUHE(SYIIEHEH 5IIH DSY) 1,877 0 1,877
212 ABER4Y 1,062,742 1,051,953 10,789
212-08 JIEFAFE 2 927,930 917, 141 10,789
[ 23 | 927,930 917, 141 10,789
< sYUFHMY > 10,789 0 10,789
020143 B42 HFMNRSHE ASLH 0182
10,789,000+ 15 10,789 0 10,789
216 0l Xt 2! 1,420,539 1,403,000 17,539
216-02 212+ B X3 5] 4 0| Kt 42! 11,909 2,000 9,909
[ 2eral | 11,909 2,000 9,909
<ol > 9,909 0 9,909
OULENS 01X + 9,909 0 9,909
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[ 23 | 8,630 1,000 7,630
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020148 FROILEE M2 01K 42 7,630 0 7,630
220 A K M 24 5,742,963 3,958,492 1,784,471
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220-02 YBIR LS 1,739,646 1,496,316 243,330
[ 2ors ] 1,739,646 1,496,316 243,330
< sYZIY > 1,698,553 1,496,316 202,237
OB WHPAL SN 202,237 0 202,237
< AYEXD > 41,003 0 41,093
OFM+ x8 W23 41,003 0 41,093
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&1 224 JIEI 4 (29 &)

Z-#-8-2 0l &t o pIE-E" HZE2

02014 SI1&2Hlg XNIFAY &H Btz 13,078 0 13,078

OSASISERTI XA (ME B S) 7,112 0 7,112

< sYIsHH > 335,400 137,400 198,000

OHIDHA SHEHHX 22043 660& +500,000= 330,000 132,000 198,000

< 2SS MG L > 5,188 0 5,188

O2013E 24l Y MBS HEREIZ AW B 1,121 0 1,121

020108 E+===ZNEY =UH=EE= AU Bt 4,067 0 4,067

225 X &2 49,291 49,000 291

225-01 NtH ¢l 49,291 49,000 291

[ LBr3 A ] 49,291 49,000 291

< WS > 1,000 49,000 A 48,000

OMe=2 XHgH &=xH 1,000 49,000 248,000

< QrAD > 20,000 0 20,000

OXtsx2a PN S(AHAZ) 20,000 0 20,000

< sgllsdd > 28,291 0 28,291

OUME ALY B (SANT HSALACNS) 28,291 0 28,291

300 X1 W= Al 113,577,000 113,069, 000 508,000

310 XY WAl 113,577,000 113,069, 000 508,000

311 X w2 Al 113,577,000 113,069, 000 508,000

311-02 SE WA 508,000 0 508,000

[ LBr3 A ] 508,000 0 508,000

< QA > 8,000 0 8,000

O&=2Y 2HE8s 20 8,000 0 8,000

< HEZ M > 500,000 0 500,000

O=zZ& - sHEEZ &2 F 500,000 0 500,000

400 ZHWR3S 2,050,000 1,950,000 100,000

420 Al - 2B USRI S 2,050,000 1,950,000 100,000

21 Al - 22EWRESS 2,050,000 1,950,000 100,000

421-01 Al - 2XZ3 RS 2,050,000 1,950,000 100,000

[ 2LBt3 A ] 2,050,000 1,950,000 100,000

<JIEZEA > 2,050,000 1,950,000 100,000

O=3d Mo 2322 100,000 0 100,000

500 X3 77,482,668 74,578,368 2,904,300

510 2 nEXx3S 62,279,595 60,473,111 1,806,484

511 208X 3s 62,279,595 60,473,111 1,806,484
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511-01 2R X3 42,065,002 40,791,882 1,273,120
2utz| | | 42,065,002 40,791,882 1,273,120
< FSTA > 21,068,999 21,069,242 ~243
ONSZ 0K 33,800 84,886 A51,086
OHAZ IS 01Xl & 32,139 22,139 10,000
ONMSANSYIHAN R 8,800 12,000 A3,200
ongzzAAN 930,000 905, 171 24,829
OJAE Y220 KR AL 109,877 99,051 10,826
Ozogntel =5 1,158,703 1,150,315 8,388
HHX D > 46,248 21,208 25,040
OHSH RRIIBNA<EZHUH ABSOI> 8,040 0 8,040
OS&ER8 HE SANA<EYLYN ABS> 17,000 0 17,000
IR > 994,621 869,456 125, 165
ORI = B2l At e 3,007 0 3,007
0+98e8 #=HL 2N 81,000 0 81,000
OFHZUX 720,000 678,932 41,068
SASAMD > 865,247 864,247 1,000
OMEXE (2 H2AES 1,000 0 1,000
S > 6,623,323 6,187,394 435,929
OSHEZSHEA 244 K 25,000 0 25,000
OSZ1YX ZSALRAE 170,000 0 170,000
O=HIHSEXN X2 AY 2,674 18,529 ~15,855
OIIEpE-ET 263,315 23,704 239,611
O &Y ST A AL 4,274 3,406 868
OL2® MK 9,305 0 9,305
OFTAAFZ 2 & 2 & XI & 7,000 0 7,000
ALAH D > 150,008 231,358 £81,350
O 2R 22l HAAE 3,100 3,500 £400
ONEYE NAZSH AL 7,500 25,000 A17,500
OABI=IIY 54 103,753 115,203 A11,450
OB 22 0 52,000 A52,000
OLFE YLD > 7,402,344 6,815,072 587,272
OSZAXNS VAT A F b 316,000 300,000 16,000
O TH L 0l 2 A S 1,272 0 1,272
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¥.p-8.-=2 O &k 0 k-1 Hms2
OsdJ ZEMD A7 Ed 5,000 0 5,000
OUlUX ZorAte 40,000 0 40,000
OLPG 28 MBLT 2SAY 150,000 0 150,000
OBt THaH O 2 A (X1 &) 3,795,800 3,375,800 420,000
O2X % HISSAY K& 0 45,000 /45,000
< EAALD > 124,031 46,424 77,607
Os0EREAA S IFME(5S)ANS 109,412 34,265 75,147
OJMA ZHMESR X 2,460 0 2,460
<sYIsdE > 548,377 544,677 3,700
OsJIJ SHEXL 2,400 0 2,400
OL=AREH E2AA 1,300 0 1,300
< BAMSBBALL > 443,828 344,828 99,000
Ostl AXTSSH NS (FILYH ABSA) 99,000 0 99,000
511-02 NG LMSLEIHBES 17,071,199 16,858,947 212,252
[ 2ers ] 17,071,199 16,858,947 212,252
<Fou=STY > 553,014 494,262 58,752
OXI AL3I A Bl 2 505,014 446,262 58,752
<sUZY > 3,528,850 3,427,350 101,500
ONFUNRSHH 2483 =& 231,500 130,000 101,500
<ALZHDB > 5,220,000 5,168,000 52,000
Onz=scz 22 52,000 0 52,000
511-03 713 3,143,394 2,822,282 321,112
[ 2ersi ] 3,143,394 2,822,282 321,112
<FUu=xA > 135,185 115,473 19,712
O23FAELpAE Z2I8 29 0 1,000 1,000
OF4d =22 HEXE 60 120 260
OSHEUSSANER0IAY 100,512 79,740 20,772
< B > 1,250,457 1,155,057 95,400
OSAANES U ALY 23,700 0 23,700
OntZ ot SEAL 71,700 0 71,700
< EAANSD > 619,134 619,134 0
OXIOHOfl & 2r2l AL K| 2 9,700 8,700 1,000
OTRZEBAANLX A 13,440 11,000 2,440
OOlRI0I 01 E AFS XI 2 12,000 7,000 5,000
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OXYAtel SedZ2STAY 218 K& 95,000 103,440 A 8,440
<X > 351,000 250,000 101,000
OFAXNES=d=z 254X 154,013 108,699 45,314
OSBUZAWLHHAH N TS AL 1,000 0 1,000
OFAXNES=2z a2 | 195,987 141,301 54,686
< SSHMsSHEME L > 232,197 127,197 105,000
OZZ2HMSAME HEx= N ALY 105,000 0 105,000
520 Al - SHIEXZZ=S 15,203,073 14,105,257 1,097,816
521 Al - EHIEX3S 15,203,073 14,105,257 1,097,816
521-01 Al - SHIEXZ S 15,203,073 14,105,257 1,097,816
[ B3 ] 15,203,073 14,105,257 1,097,816
< FR=EXA > 5,201,986 5,170,941 31,045
O 3N A 4,200 5,400 A 1,200
OX S ALZ MHI A 63,127 55,783 7,344
Oz s=2+% & 69,000 74,520 N5,520
OFMHESsHAY 2N 38,018 37,659 359
O THIA=SXHEEH 2K 20,132 19,842 290
OFMeI=XN22E XA 152,163 149,971 2,192
OuWusEsHIEA 4,225 10,611 N 6,386
OdiatZE =0 K& 4,018 2,768 1,250
OXASANE LTEOIX L 880 1,200 A320
OXe22 A X2 91,153 90,517 636
OIIAMAELRZE=20] NJAAZ 13,735 12,381 1,354
OXE2Z2 MY Atdl2tel XI& 6,310 7,761 A 1,451
OFHe MRSHH 22XA 21,433 21,124 309
OXHe EsXE =2 2,547 3,145 A 598
Okogditel &= 463,481 460, 126 3,355
Ost=R2IE NEgMEXA 11,685 6,285 5,400
oSy 2L XA 18,050 17,790 260
OBAUY 822 JX 6 12 N
OLQdoANEHZ Y 15,289 10,667 4,622
Ootol==20IX& 16,301 16,541 A 240
OZOH JHel2Y MEAM 2HH X2 7,176 4,565 2,611
Qe =AESAE 2IAA 20,036 19,752 284
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500 Ex=

&

2 520 Al - SHIEEXES S

ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Oll &F o JIEH Hns2

O=ZAXNSUE NG EH 168,000 150,000 8,000
OTHE Ol 2 AL 636 0 636
OsZJ 28ALl AL 3,000 0 3,000
O8 = 10025 22 At 2,780 0 2,780
OBhE THOH Ol 2 AFS (KT ) 1,265,266 1,125,266 140,000
< EAMSD > 295,985 273,536 22,449
Os0ERAL S IUF(sS)XH 16,397 5,140 11,257
OJINMA ZHES XNE 984 0 984
oflzA dYgsE(AsH,0tA23) 8 7 6,000 0 6,000
OFLEE ANS=EAHANE 29 64,899 67,002 22,103
OXIOHOI & 22l AvH X & 1,940 1,740 200
OFRZE2HAS X 2,688 2,200 488
O0elol g At X & 2,400 1,400 1,000
OXlISAtel SEAISTIAMY 15 X 19,000 20,688 A~ 1,688
O=9 A& MEIAAY 18,597 12,286 6,311
< sYI=HH > 862,213 761,764 100,449
OsJIAH e XA 122,098 22,729 99,369
OsJIIH SHEXNRE 1,080 0 1,080
< B S2AZAEL > 525,925 494,361 31,564
Odegxs Weedg 7,482 7,918 AN436
OLZE HsUa HA  FH<ZILEH A2S52> 9,000 0 9,000
OZ=HHd s4X& 8,000 0 8,000
OMSANEXA 15,000 0 15,000
00 2EH=LSHURNH 45,658,638 19,139,712 26,518,926
710 Ed+US 45,458,638 19,139,712 26,318,926
711 A= 35,654,399 15,000,000 20,654,399
711-01 =MAHLH2 35,654,399 15,000,000 20,654,399
[ el A ] 35,654,399 15,000,000 20,654,399
<JIEXEA > 35,654,399 0 35,654,399
Oz=MALAH=S 35,654,399 0 35,654,399
< MW > 0 15,000,000 15,000,000
Oz=MALAH=S 0 15,000,000 15,000,000
712 8ET0IE = 9,304,527 3,640,000 5,664,527
712-01 2 DEEXSANERH 7,929,240 2,800,000 5,129,240




E: 700 B
2 710 2%
g 712 ddx (ol &)
8.2 0l &k o Iz H &2
[ B3 7,929,240 2,800,000 5,129,240
<IIERZ 7,929,240 0 7,929,240
O=21 7,929,240 0 7,929,240
< TH= 0 2,800,000 A2,800,000
O =10Ex3 A 0 2,800,000 22,800,000
712-02 A 1,375,287 840,000 535,287
[ £et3 1,375,287 840,000 535,287
< JIEx 1,375,287 0 1,375,287
OANZHIEEXZ A8 1,375,287 0 1,375,287
< M2 0 840,000 840,000
O AM&E 0 840,000 840,000
LH = H ch 200,000 0 200,000
721 dg= 200,000 0 200,000
721-03 JIEtRI A& 200,000 0 200,000
[ Brs 200,000 0 200,000
<szZAML > 200,000 0 200,000
O==dg0l 28t 2= 200,000 0 200,000




